Module 5: Solving Linear Equations
Topic 3 Application: Solving Systems of Linear Equations Problem Set

1. Solve the following systems of linear equations by elimination. 
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2. Solve the following systems of linear equations by substitution.
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3. Solve for the following systems of linear equations by graphing. Provide a rough sketch of the graph of each system.
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4. Solve the following system of linear equations by substitution. Then confirm your answer by graphing the system. 
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5. How does the graph of a system of linear equations with one solution differ from the graph of a system of linear equations with infinite solutions?
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